Www.mopar.com

Bed Divider
Ram 1500

September 27, 2017 K6862948



Bed Divider
Ram 1500

www.mopar.com

Sevice
Call Out Description Quantity | Part Part Number
(Y/N)
1 Cargo Manager Track / Flange 2 Y
2 2" Long Threaded Block 6 Y
3 5/16"-18 x 3/4" Pan Head Screw 6 Y
4 5/16" Lock Washer 6 Y
5 Delrin Wheel 1 Y
6 5/16" x 3/8" SS Shoulder Bolt 1 Y
7 5/16" Lock Nut 1 Y
8 #10-24 x 1/2" Truss Head Screw 1 Y
9 #10 Lock Washer 1 Y
10 #10-24 Hex Nut 1 Y
11 Tork Head Screw 2 Y
12 Star Washer 2 Y
13 Stem 2 Y
14 #6 x 3/8" Truss Head Screw 1 Y
15 Allen Key 1 Y
16 Torx Key 1 Y
September 27, 2017 K6862948




September 27, 2017 K6862948




A —— —=— 1" Same for 5.7 and 6.3 Box
Tailgate

T T
I
f T

September 27, 2017 K6862948



Gusset Bracket (On left side only)

Left Side Tram Plate

Right Side Tram Plate

Linkage Control Levers

September 27, 2017

K6862948



== = fl

September 27, 2017 K6862948




K6862948

September 27, 2017



	1
	2
	3
	4
	5
	6
	7

